
Program: BE Mechanical Engineering 
Curriculum Scheme: Revised 2012
[bookmark: _GoBack]Examination: Third Year Semester VI
Course Code: MEC605 and Course Name: Mechatronics
Time: 1hour                                                                                                                           Max. Marks: 50
============================================================================== 
Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	Robot is derived from Czech word

	Option A:
	Rabota

	Option B:
	Robota

	Option C:
	Rebota

	Option D: 
	Ribota

	
	

	Q2.
	The Robot designed with Polar coordinate systems has

	Option A:
	Three linear movements

	Option B:
	Three rotational movements

	Option C:
	Two linear and one rotational movement

	Option D:
	Two rotational and one linear movement

	
	

	Q3.
	When the output is bounded for bounded inputs, then the system is said to be_______.

	Option A:
	stable

	Option B:
	unstable

	Option C:
	functional

	Option D:
	non functional

	
	

	Q4.
	_____ is area of engineering and science which understand the different principles, structure and programming of robot.

	Option A:
	Mechatronics

	Option B:
	Robotics

	Option C:
	Aeronautics

	Option D:
	Biotonics

	
	

	Q5.
	Digital to Analog Conversion is ______________ Analog to Digital Conversion.

	Option A:
	less complex than

	Option B:
	more complex than

	Option C:
	as complex as

	Option D: 
	unpredictable

	
	

	Q6.
	The type of memory which is fast and temporarily stores the data which are immediately required for use is called as______.

	Option A:
	HDD

	Option B:
	ROM

	Option C:
	RAM

	Option D: 
	SSD

	
	

	Q7. 
	Data acquisition of all the physical quantities in the real world is done in

	Option A:
	the analog mode

	Option B:
	the digital mode

	Option C:
	either analog mode or digital mode

	Option D: 
	both analog and digitalcmode

	
	

	Q8. 
	Signal conditioner is used for _________

	Option A:
	 attenuating the voltage

	Option B:
	 maintaining a constant voltage

	Option C:
	 keeping the voltage zero

	Option D: 
	 boosting the voltage

	
	

	Q9
	In the following options which device is used as sensor

	Option A:
	Solenoids

	Option B:
	DC motor

	Option C:
	Switches

	Option D: 
	Stepper motor

	
	

	Q10.
	The mechatronics is an interdisciplinary field in which the disciplines those act together are _________

	Option A:
	Mechanical systems and Electronic systems

	Option B:
	Mechanical systems and Information technology

	Option C:
	Electronic systems and Information technology

	Option D: 
	Mechanical systems, Electronic systems and Information technology

	
	

	Q11.
	Ladder logic programming consists primarily of:

	Option A:
	 Virtual relay contacts and coils

	Option B:
	 Logic gate symbols with connecting lines

	Option C:
	 Function blocks with connecting lines

	Option D: 
	 Text-based code

	
	

	Q12. 
	Which is not an example of mechatronics 

	Option A:
	Walking on road

	Option B:
	Washing machine 

	Option C:
	Robotic  arm 

	Option D:
	Thermometer 

	
	

	Q13.
	The capability of convention relay systems for complex operations is ___________ that of the PLCs .

	Option A:
	poor than

	Option B:
	excellent than

	Option C:
	as good as

	Option D: 
	unpredictable as

	
	

	Q14.
	What is/are the maximum number of arrow/s (Input/s) allowed to go inside the block?

	Option A:
	One

	Option B:
	Two

	Option C:
	Three

	Option D: 
	Four

	
	

	Q15.
	Which is not type of buses required in a PLC

	Option A:
	Data buses for communications data between elements

	Option B:
	The address buses to read the address of locations for accessing stored data

	Option C:
	Control buses for internal control actions.

	Option D: 
	Image buses to read image

	
	

	Q16. 
	What is the ratio of amplitude of response to that of the input called?

	Option A:
	Response

	Option B:
	Gain

	Option C:
	Phase

	Option D: 
	Frequency

	
	

	Q17.
	Which is not the main component parts of a PLC

	Option A:
	Central processing unit (CPU) 

	Option B:
	Alpha Unit

	Option C:
	The input/output unit

	Option D:
	The programming device 

	
	

	Q18.
	The displacement of a mass attached to a spring in mechanical system is corresponding to _______ in the electrical system

	Option A:
	inductance

	Option B:
	resistance

	Option C:
	capacitance

	Option D: 
	current

	
	

	Q19.
	Which part of DC motor can sustain maximum temperature rise?

	Option A:
	Armature Winding

	Option B:
	Field winding

	Option C:
	Slip Ring

	Option D: 
	Commutator

	
	

	Q20.
	Which is not a component of pneumatic system 

	Option A:
	motor driven compressor 

	Option B:
	air receiver 

	Option C:
	pneumatic cylinder

	Option D:
	fluid Tank

	
	

	Q21.
	The number of the pole in Small Dc Motor Up to 5 H.P are

	Option A:
	2 poles

	Option B:
	4 poles

	Option C:
	8 poles

	Option D: 
	10 poles

	
	

	Q22.
	Which is not a component of hydraulic system 

	Option A:
	Motor 

	Option B:
	Compressor

	Option C:
	Pump 

	Option D: 
	Pressure regulator

	
	

	Q23.
	Which is not a temperature measurement sensor

	Option A:
	thermocouple

	Option B:
	RTD

	Option C:
	Thermistors

	Option D: 
	Manometer

	
	

	Q24. 
	What is working medium for pneumatic

	Option A:
	Compressed air 

	Option B:
	Liquid

	Option C:
	Oil

	Option D: 
	Rod 

	
	

	Q25.
	Cam lobe hydraulic motor is a type of

	Option A:
	axial hydraulic motor

	Option B:
	orbit hydraulic motor

	Option C:
	gear hydraulic motor

	Option D: 
	radial hydraulic motor
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